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Prozentrechnung IV

Lésungen

Lose folgende Aufgaben:

1 0,5x—8y+5x+3y+25y+45x=10x — 2,5y

2 | 9—(7a+5b)-3b+3=-Ta+2b+12

3 33-r-4,2-5-4=5544rs

4 Scde : 2,5¢ce = 2d

5 | 5-(2+5a+4b)=10+25a+20b

6 (a+3b)-(2c—3d) =2ac —3ad + 6bc —9bd

7 | 4x° —2x+3x> +4x+5x° =5x* =9x3-2x2+2x

8 | 5f*.7f-3=105f3

9 | 45¢f*g’ :15¢fg =3 fg?

10 | 45-(25° —3+55)=8s53—125+20s2

11 | (5r—2s5)?=25r2—20rs +4s2

12 | p—Bg+3-2¢)+(2+4p)=5p—q—1

13 | Bx+5y)2=64x2+80xy +25y?

14 | 3,2a-(-5b)-c-(-1)=16abc

15 | —8x3—-8y3+19x2+7x3-12y3=—x3-20y3+19x2
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